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Cap.	
  V	
  El	
  empate	
  
	
  

• 1955	
  derriban	
  a	
  Perón	
  y	
  asume	
  LONARDI	
  (“restaurar	
  el	
  oren	
  constitucional”	
  y	
  “vigencia	
  del	
  proyecto	
  
nac.	
  y	
  pop.	
  Pero	
  con	
  una	
  depuración	
  de	
  lo	
  corrupto”)	
  	
  
	
  

• 2	
  MESES	
  DESPUES	
  RENUNCIA	
  LONARDI	
  –	
  asume	
  ARAMBURU	
  (Rojas	
  vicepresidente)	
  Los	
  militares	
  se	
  
proponen	
  el	
  traspaso	
  del	
  gobierno	
  lo	
  antes	
  posible.	
  	
  
	
  

• Peronismo	
  c/	
  Perón	
  en	
  el	
  exilio:	
  1950,	
  la	
  formula	
  hace	
  crisis.	
  1952,	
  reordenamiento	
  de	
  la	
  políticas	
  para	
  
adecuarse	
  (no	
  se	
  lleva	
  a	
  cabo)	
  1955,	
  era	
  realmente	
  necesario	
  un	
  reordenamiento.	
  	
  
	
  

o Peronismo:	
  +	
  sentimiento	
  que	
  movimiento.	
  
o Nuevos	
  dirigentes	
  sindicales:	
  columna	
  vertebral	
  del	
  peronismo.	
  
o Perón	
  debió	
  tolerar	
  desobediencias	
  para	
  no	
  ser	
  negado.	
  
o Llevo	
  a	
  cabo	
  un	
  liderazgo	
  con	
  nuevas	
  técnicas	
  de	
  conducción	
  	
  
o La	
  UCR	
  se	
  %	
  entre	
  Balbín	
  (gobierno	
  libertador)	
  y	
  Frondizi	
  (ACERCAMIENTO	
  A	
  PERON)	
  	
  que	
  

reclama	
  el	
  levantamiento	
  de	
  la	
  proscripción	
  para	
  atraer	
  a	
  los	
  peronistas.	
  	
  
	
  

• ECONOMICAMENTE:	
  	
  
	
  

o el	
  FMI	
  lanza	
  políticas	
  ortodoxas	
  (como	
  el	
  abandono	
  de	
  la	
  emisión	
  fiscal	
  y	
  estimular	
  la	
  
exportación	
  tradicional)	
  para	
  países	
  con	
  la	
  economía	
  “hacia	
  adentro”	
  y	
  proteccionistas.	
  ESTA	
  
POLITICA	
  SUPUESTAMENTE	
  REVITALIZABA	
  LAS	
  DICTADURAS	
  	
  
	
  

o la	
  CEPAL	
  lanza	
  una	
  política	
  alternativa,	
  en	
  la	
  que	
  los	
  países	
  desarrollados	
  ayudarían	
  a	
  los	
  
subdesarrollados	
  (con	
  reformas	
  estructurales)	
  ESTA	
  POLITICA	
  EN	
  CAMBIO	
  FAVORECIA	
  EL	
  
ESTABLECIMIENTO	
  DE	
  DEMOCRACIAS	
  ESTABLES.	
  	
  

	
  
o Los	
  empresarios	
  extranjeros	
  recomendaban	
  modificar	
  el	
  estatus	
  de	
  los	
  trabajadores,	
  que	
  habían	
  

adquirido	
  durante	
  el	
  peronismo,	
  bajando	
  el	
  poder	
  de	
  los	
  sindicatos	
  y	
  aumentando	
  el	
  de	
  las	
  
autoridades	
  patronales.	
  	
  

	
  
• EMPATE	
  =	
  Situación	
  de	
  adversidad	
  que	
  se	
  da	
  entre	
  las	
  fuerzas	
  sociales	
  a	
  favor	
  de	
  la	
  transformación	
  (la	
  

que	
  necesitaba	
  la	
  exclusión	
  del	
  peronismo	
  para	
  llevarse	
  a	
  cabo)	
  y	
  los	
  antiguos	
  que	
  conservaban	
  su	
  
resistencia.	
  	
  
	
  

o 1956	
  a	
  1958:	
  Gral.	
  ARAMBURU	
  encabeza	
  el	
  gobierno	
  (pro-­‐proscripción)	
  
	
  

§ SE	
  INTERVIENEN:	
  CGT,	
  SINDICATOS,	
  UNIVERSIDADES,	
  MEDIOS,	
  PROPAGANDAS.	
  	
  
§ 1956:	
  Levantamiento	
  peronista	
  con	
  gran	
  apoyo	
  de	
  civiles,	
  es	
  REPRIMIDO	
  

VIOLENTAMENTE.	
  Aumenta	
  la	
  depuración	
  de	
  peronistas	
  y	
  “los	
  gorilas”	
  antiperonistas	
  
van	
  ganando	
  el	
  control	
  del	
  Ejercito.	
  	
  

§ ECONOMICAMENTE	
  durante	
  A.	
  =	
  	
  
• “PLAN	
  PREBISCH”	
  combina	
  la	
  nueva	
  doctrina	
  con	
  un	
  programa	
  de	
  estabilización:	
  

no	
  +	
  intervención	
  del	
  Estado,	
  estimulación	
  del	
  sector	
  agrario,	
  Arg.	
  entra	
  al	
  FMI	
  y	
  al	
  
Bco.	
  Mundial	
  

§ Trabajadores	
  %	
  entre	
  los	
  mas	
  limitados	
  y	
  los	
  huelgueros/terroristas	
  
	
  

• 1957:	
  comienza	
  a	
  retirarse	
  el	
  gobierno	
  provisional	
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o Perón	
  recomienda	
  votar	
  en	
  blanco	
  =	
  24%	
  de	
  los	
  votos	
  (QUIEN	
  TUVIERA	
  EL	
  VOTO	
  PERONISTA	
  
GANARIA	
  LAS	
  ELECCIONES	
  SIEMPRE	
  Y	
  CUANDO	
  PERON	
  SIGUIERA	
  PROSCRIPTO)	
  	
  

o Frondizi	
  negocia	
  con	
  Perón	
  su	
  apoyo	
  a	
  cambio	
  del	
  levantamiento	
  de	
  la	
  proscripción,	
  y	
  se	
  impone	
  
en	
  la	
  elecciones.	
  
	
  

• 1958/1962:	
  FRONDIZI	
  presidente	
  	
  
	
  

o Tendía	
  a	
  negociar	
  con	
  grandes	
  corporaciones,	
  aspiraba	
  a	
  renovar	
  los	
  acuerdos	
  entre	
  
trabajadores	
  y	
  empresarios,	
  tenía	
  poca	
  inclinación	
  por	
  la	
  escena	
  política	
  (poco	
  valor)	
  

o DEUDA	
  ELECTORAL:	
  Aumento	
  de	
  salarios	
  del	
  60%,	
  levantamiento	
  de	
  proscripciones	
  (que	
  no	
  
incluía	
  a	
  Perón	
  ni	
  al	
  Partido)	
  	
  sanción	
  de	
  la	
  nueva	
  ley	
  de	
  asociaciones	
  profesionales.	
  

o SI	
  HIZO:	
  “batalla	
  del	
  petróleo”	
  con	
  empresas	
  extranjeras	
  para	
  negociar	
  la	
  exploración	
  y	
  
explotación.	
  Autorizo	
  el	
  funcionamiento	
  de	
  universidades	
  no	
  estatales	
  (debate	
  con	
  los	
  católicos	
  
defensores	
  de	
  la	
  educación	
  laica	
  y	
  libre).	
  Y	
  también	
  sanciono	
  la	
  ley	
  de	
  radicación	
  de	
  capital	
  
extranjero	
  y	
  promoción	
  industrial	
  

o Sindicatos:	
  Vandor,	
  figura	
  del	
  nuevo	
  tipo	
  de	
  dirección	
  de	
  “golpear	
  y	
  enseguida	
  negociar”	
  
o ENONOMICAMENTE:	
  “Plan	
  de	
  Estabilización”	
  con	
  el	
  que	
  se	
  aplica	
  una	
  gran	
  devaluación,	
  

congelamiento	
  de	
  $	
  y	
  supresión	
  de	
  la	
  regulación	
  estatal.	
  PERO	
  LOS	
  EFECTOS	
  DEL	
  PLAN	
  Y	
  LAS	
  
PROTESTAS	
  HACEN	
  RESURGIR	
  LOS	
  PROB.	
  	
  
	
  

§ La	
  modernización	
  económica	
  debía	
  ser	
  promocionada	
  por	
  el	
  Estado	
  y	
  de	
  una	
  renovación	
  
técnica	
  y	
  científica	
  +	
  capital	
  extranjero	
  (que	
  aumentan	
  en	
  el	
  ´59	
  y	
  ´61,	
  se	
  retraen	
  y	
  
reanuda	
  en	
  el	
  ´67)	
  	
  

§ Este	
  capital	
  es	
  instalado	
  a	
  través	
  de	
  CREDITOS,	
  AHORRO,	
  COMPRA	
  DE	
  EMP	
  NACIONALES,	
  
ETC.	
  	
  

§ En	
  la	
  industrial,	
  nuevas	
  ramas	
  como	
  la	
  del	
  petróleo,	
  acero,	
  celulosa	
  y	
  automotora,	
  crecen	
  
aceleradamente.	
  Mientras	
  que	
  las	
  antiguas	
  ramas	
  de	
  textiles,	
  calzados	
  y	
  
electrodomésticos	
  se	
  retraer	
  por	
  la	
  competencia	
  con	
  nuevos	
  productos.	
  	
  

§ Sector	
  Moderno	
  (inversión)	
  en	
  expansión	
  y	
  Sector	
  Tradicional	
  (consumo	
  masivo)	
  
estancado.	
  Cae	
  el	
  empleo	
  industrial,	
  no	
  compensado	
  por	
  las	
  nuevas	
  empresas	
  

§ Las	
  nuevas	
  empresas	
  tuvieron	
  que	
  adecuar	
  su	
  tecnología	
  a	
  las	
  condiciones	
  y	
  realidades	
  
de	
  la	
  Argentina	
  (verticalismo,	
  escala	
  pequeña)	
  por	
  lo	
  que	
  bajo	
  la	
  eficiencia	
  de	
  las	
  mismas.	
  

§ La	
  MODERNIZACIÓN	
  GENERÓ	
  CAMBIOS	
  EN	
  LA	
  SOCIEDAD:	
  migraciones	
  internas	
  del	
  
campo	
  a	
  la	
  ciudad,	
  y	
  de	
  los	
  países	
  limítrofes	
  (GBA	
  36%	
  de	
  la	
  población)	
  atraídos	
  por	
  la	
  
vida	
  urbana	
  y	
  el	
  empleo.	
  Estos	
  migrantes	
  eran	
  empleados	
  como	
  mano	
  de	
  obra	
  en	
  
construcciones	
  (lo	
  que	
  antes	
  era	
  empleo	
  en	
  industrias)	
  LA	
  MIGRACION	
  TRAE	
  
CONSECUENCIAS	
  TIPICAS:	
  CINTURON	
  DE	
  VILLAS	
  MISERIAS,	
  la	
  nueva	
  marginalidad.	
  	
  

§ Así	
  es	
  como	
  se	
  da	
  un	
  gran	
  crecimiento	
  de	
  trabajadores	
  (obreros,	
  trabajadores	
  por	
  cuenta	
  
propia,	
  de	
  servicios	
  o	
  pequeños	
  comercios)	
  carentes	
  de	
  protección	
  sindical	
  =	
  SECTOR	
  DE	
  
DESPROTEGIDOS	
  =	
  FUENTE	
  DE	
  TENSIÓN	
  SOCIAL	
  	
  

§ Los	
  cambios	
  en	
  los	
  consumos	
  resultaron	
  clave	
  en	
  la	
  diferenciación	
  de	
  la	
  sociedad.	
  Fuerzas	
  
poderosas	
  impulsaban	
  la	
  HOMOGENEIZACIÓN	
  DEL	
  CONSUMO	
  a	
  través	
  de	
  artículos	
  como	
  
el	
  JEAN	
  por	
  ejemplo.	
  Pero	
  de	
  inmediato	
  se	
  genera	
  un	
  movimiento	
  adverso	
  cuando	
  los	
  
sectores	
  altos	
  buscan	
  diferenciarse	
  de	
  las	
  masas,	
  y	
  se	
  generan	
  las	
  “marcas”	
  o	
  “etiquetas”.	
  

§ EDUCACIÓN:	
  vía	
  de	
  ascenso	
  para	
  los	
  sectores	
  medios,	
  pero	
  comienzan	
  las	
  fallas	
  cuando	
  
se	
  da	
  una	
  gran	
  diferencia	
  entre	
  los	
  egresados	
  universitarios	
  (+)	
  y	
  los	
  empleos	
  disponibles	
  
(-­‐)	
  además	
  de	
  la	
  perdida	
  de	
  valor	
  de	
  los	
  títulos.	
  =	
  OTRA	
  FUENTE	
  DE	
  TENSION	
  SOCIAL.	
  

§ UNIVERSIDADES:	
  los	
  estudiantes	
  se	
  propusieron	
  desperonizar	
  las	
  Univ.	
  Y	
  modernizar	
  sus	
  
actividades.	
  Ciencia:	
  según	
  la	
  utopía	
  del	
  desarrollo	
  y	
  la	
  modernización,	
  debía	
  ser	
  una	
  
nueva	
  palanca	
  económica,	
  por	
  lo	
  tanto	
  se	
  produce	
  una	
  nueva	
  orientación	
  en	
  las	
  
universidades	
  (biología,	
  química	
  etc.)	
  En	
  el	
  sector	
  de	
  las	
  ciencias	
  sociales	
  tmb	
  se	
  produce	
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una	
  modernización:	
  antes	
  de	
  que	
  predominaran	
  la	
  subocupación,	
  se	
  produjo	
  un	
  gran	
  
impulso	
  de	
  la	
  psicología	
  y	
  la	
  sociología.	
  	
  
	
  

o Desde	
  1955	
  se	
  gobernó	
  bajo	
  los	
  principios	
  de	
  la	
  Ref.	
  Univ.	
  de	
  1918	
  
(autonomía	
  y	
  gobierno	
  tripartito	
  de	
  profesores	
  alumnos	
  y	
  egresados)	
  PERO	
  
desde	
  el	
  comienzo	
  hubo	
  una	
  mala	
  relación	
  con	
  el	
  gobierno	
  y	
  se	
  produjo	
  la	
  
ruptura	
  cuando	
  Frondizi	
  autorizo	
  la	
  UNIVERSIDAD	
  PRIVADA	
  (debate	
  
básicamente	
  ligado	
  con	
  los	
  sectores	
  católicos	
  y	
  la	
  iglesia)	
  	
  
	
  

o Los	
  candidatos	
  peronistas	
  ganan	
  las	
  elecciones	
  en	
  las	
  principales	
  provincias,	
  a	
  los	
  que	
  Frondizi	
  
decide	
  que	
  NO	
  ENTREGARIA	
  EL	
  PODER	
  ANTE	
  UN	
  TRIUNFO	
  PERONISTA.	
  Entonces	
  interviene	
  
esas	
  provincias	
  y	
  cambio	
  todo	
  su	
  gabinete.	
  ANTE	
  ESTO	
  LOS	
  MILITARES	
  LO	
  DEPONEN,	
  
REEMPLAZANDOLO	
  POR	
  J.M.	
  GUIDO.	
  

	
  
	
  

• 1962:	
  JM.	
  GUIDO	
  	
  
	
  

o Frágil	
  institucionalmente	
  	
  
	
  

• 1963:	
  ILLIA	
  –	
  UCR	
  del	
  Pueblo	
  	
  
	
  

o En	
  las	
  elecciones	
  del	
  ´63	
  los	
  peronistas	
  votan	
  nuevamente	
  en	
  blanco	
  	
  
o >	
  en	
  el	
  Senado,	
  <	
  en	
  la	
  Cámara	
  y	
  –	
  de	
  la	
  mitad	
  de	
  las	
  gobernaciones.	
  	
  
o Respeto	
  las	
  normas	
  
o “No	
  abusar	
  del	
  poder”	
  	
  
o ECONOMICAMENTE:	
  énfasis	
  en	
  el	
  mercado	
  interno	
  y	
  protección	
  del	
  capital	
  nacional	
  	
  
o El	
  gobierno	
  intenta	
  aplicarle	
  a	
  los	
  dirigentes	
  sindicales	
  la	
  Ley	
  de	
  A.	
  Profesionales	
  con	
  lo	
  que	
  se	
  

desata	
  un	
  plan	
  de	
  lucha	
  de	
  los	
  sindicatos	
  
	
  

• 1965:	
  ante	
  el	
  freno	
  en	
  Brasil	
  al	
  retorno	
  de	
  Perón,	
  EL	
  ENVIA	
  A	
  ISABEL,	
  quien	
  apoya	
  una	
  candidatura	
  
peronista	
  vs.	
  la	
  vandorista	
  Y	
  LO	
  SUPERA	
  EN	
  VOTOS.	
  Se	
  genera	
  un	
  EMPATE:	
  escenario	
  sindical	
  para	
  
Vandor	
  y	
  escenario	
  electoral	
  para	
  Isabel.	
  	
  

	
  
	
  
	
  
	
  
Cap.	
  VI	
  Dependencia	
  o	
  liberación	
  	
  
	
  

• GOLPE	
  DE	
  ESTADO	
  1966-­‐1970.	
  Pasan	
  el	
  gobierno	
  de	
  Illa	
  al	
  general	
  ONGANIA.	
  El	
  golpe	
  tuvo	
  gran	
  
consenso	
  en	
  la	
  sociedad	
  y	
  partidos	
  políticos.	
  	
  

• Habían	
  varias	
  tendencias	
  heterogéneas	
  dentro	
  del	
  gobierno	
  en	
  convivencia,	
  pero	
  todas	
  COINCIDIAN	
  EN	
  
QUE	
  ERA	
  NECESARIO	
  REORGANIZAR	
  EL	
  ESTADO.	
  	
  
	
  

§ 1º	
  FASE	
  DEL	
  NUEVO	
  GOBIERNO:	
  “Shock	
  autoritario”	
  	
  
o Se	
  disolvieron	
  el	
  parlamento	
  (el	
  presidente	
  tenía	
  en	
  sus	
  manos	
  los	
  dos	
  poderes)	
  y	
  los	
  partidos	
  

políticos	
  (clausura	
  de	
  la	
  vida	
  política)	
  	
  
o Los	
  militares	
  fueron	
  apartados	
  de	
  las	
  decisiones	
  políticas.	
  	
  
o La	
  represión	
  absoluta	
  del	
  comunismo:	
  universidad,	
  blanco	
  principal	
  de	
  infiltración	
  y	
  desorden.	
  

SE	
  INTERVIENEN	
  (“noche	
  de	
  los	
  bastones	
  largos”	
  la	
  policía	
  interviene	
  en	
  algunas	
  facultades	
  de	
  
la	
  UBA	
  y	
  apaleo	
  alumnos	
  y	
  profs;	
  hubo	
  una	
  importante	
  renuncia	
  e	
  emigración	
  de	
  docentes)	
  y	
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luego	
  se	
  extiende	
  la	
  censura	
  a	
  “males	
  que	
  eran	
  antesala	
  del	
  comunismo”	
  (minifaldas,	
  amor	
  libre,	
  
pornografía,	
  divorcio,	
  pelo	
  largo)	
  

o Se	
  minimizó	
  el	
  personal	
  en	
  administración	
  publica	
  y	
  empresas	
  del	
  estado	
  (a	
  lo	
  que	
  hubo	
  una	
  
gran	
  respuesta	
  en	
  forma	
  de	
  protesta	
  sindical,	
  reprimida)	
  La	
  CGT	
  tuvo	
  que	
  reconocer	
  la	
  derrota.	
  
	
  

§ 2º	
  FASE	
  DEL	
  GOBIERNO:	
  Acallando	
  todo	
  tipo	
  de	
  expresión,	
  el	
  gobierno	
  ahora	
  si	
  opera	
  la	
  
REESTRUCTURACIÓN	
  	
  
	
  

• ECONOMICAMENTE:	
  no	
  había	
  rumbo	
  claro	
  hasta	
  que	
  llega	
  VASENA	
  (Mtro.	
  de	
  economía	
  y	
  trabajo)	
  	
  
o Plan	
  de	
  Vasena	
  1967	
  –	
  	
  
	
  

§ 1º	
  Superar	
  la	
  crisis	
  cíclica	
  para	
  una	
  estabilización	
  profunda.	
  	
  
§ 2º	
  Racionalizar	
  el	
  funcionamiento	
  de	
  la	
  eco.	
  
§ RTO:	
  Bueno	
  (se	
  reduce	
  drásticamente	
  la	
  inflación	
  para	
  1969)	
  
	
  

o Empresas	
  extranjeras	
  compran	
  las	
  nacionales	
  y	
  se	
  produce	
  una	
  DESNACIONALIZACIÓN.	
  
o Las	
  obras	
  públicas	
  realizadas	
  en	
  este	
  período	
  solucionaban	
  problemas	
  de	
  transporte	
  a	
  la	
  vez	
  que	
  

creaban	
  empleo	
  para	
  contratistas.	
  	
  
o Perjudicados:	
  sectores	
  rurales,	
  por	
  la	
  retención	
  a	
  las	
  exportaciones,	
  y	
  a	
  los	
  empresarios	
  

nacionales,	
  con	
  la	
  desnacionalización.	
  	
  
o Beneficiados:	
  grandes	
  empresarios,	
  transferencia	
  de	
  ingresos	
  del	
  sector	
  rural	
  al	
  urbano.	
  
	
  

• 1968:	
  la	
  CGT	
  protesta	
  pidiendo	
  un	
  “tiempo	
  social”,	
  un	
  desarrollo	
  mas	
  nacional,	
  popular	
  y	
  justo	
  
	
  

• CORDOBAZO	
  1969:	
  	
  
	
  

o ESTALLIDO	
  EN	
  CORDOBA,	
  presidido	
  por	
  una	
  OLA	
  DE	
  PROTESTAS	
  ESTUDIANTILES	
  +	
  
AGITACIÓN	
  SINDICAL.	
  	
  

o 29	
  de	
  Mayo:	
  HUELGA	
  GENERAL	
  DE	
  LA	
  CGT,	
  se	
  unen	
  estudiantes	
  obreros	
  y	
  +	
  gente	
  
o MUY	
  FUERTE	
  REPRESIÓN	
  policial	
  y	
  luego	
  del	
  Ejercito	
  (20/30	
  muertos,	
  500	
  heridos	
  y	
  300	
  

detenidos)	
  
o Luego	
  de	
  3	
  días	
  se	
  restablece	
  el	
  orden	
  
o Valor	
  simbólico	
  enorme:	
  ola	
  de	
  movilización	
  social	
  que	
  duro	
  hasta	
  el	
  ´75,	
  que	
  se	
  expresó	
  de	
  

distintas	
  maneras	
  como	
  por	
  ej.	
  con	
  el	
  nuevo	
  activismo	
  sindical,	
  en	
  las	
  movilizaciones	
  por	
  malas	
  
condiciones	
  de	
  trabajo	
  de	
  obreros,	
  etc.	
  

o Luego	
  del	
  Cordobazo,	
  se	
  repiten	
  varios	
  episodios	
  desencadenados	
  por	
  cualquier	
  cosa	
  
(impuestos,	
  aumentos,	
  etc.)	
  

o “La	
  primavera	
  de	
  los	
  pueblos”:	
  crecimiento	
  del	
  grupo	
  heterogéneo	
  PERO	
  UNITARIO,	
  que	
  va	
  
creciendo	
  y	
  “floreciendo”	
  a	
  medida	
  que	
  reconoce	
  la	
  debilidad	
  en	
  su	
  adversario.	
  	
  
	
  

• La	
  movilización	
  social	
  se	
  identificó	
  cada	
  vez	
  mas	
  con	
  Perón,	
  que	
  para	
  1971	
  llegó	
  a	
  ocupar	
  un	
  una	
  
posición	
  casi	
  tan	
  central	
  como	
  cuando	
  era	
  presidente.	
  	
  

• Onganía	
  comienza	
  a	
  caer	
  alrededor	
  del	
  ´69	
  por	
  su	
  IMPOTENCIA	
  FRENTE	
  AL	
  DESAFÍO	
  SOCIAL	
  +	
  
IMPACTO	
  EN	
  EL	
  AREA	
  ECO.	
  

• 1970:	
  LOS	
  MILITARES	
  DEPONEN	
  A	
  ONGANÍA	
  –	
  reemplazado	
  por	
  LEVINGSTON	
  (hasta	
  1971)	
  	
  
	
  

o Mtro.	
  de	
  Eco.	
  Aldo	
  Ferrer	
  propone	
  reeditar	
  la	
  fórmula	
  nacional	
  y	
  popular	
  	
  
o Mtro.	
  de	
  Trabajo	
  peronista	
  negoció	
  con	
  la	
  CGT	
  y	
  hay	
  un	
  impulso	
  salarial	
  distribucionista.	
  
o Levingston	
  anuncia	
  la	
  caducidad	
  de	
  viejos	
  partidos,	
  y	
  la	
  formación	
  de	
  nuevos.	
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o Los	
  dirigentes	
  sindicales	
  lanzan	
  un	
  plan	
  de	
  lucha	
  (no	
  contestados	
  por	
  el	
  Gob.)	
  +	
  los	
  partidos	
  
tradicionales	
  firman	
  “La	
  Hora	
  del	
  Pueblo”	
  en	
  el	
  que	
  se	
  acordaba	
  el	
  fin	
  de	
  las	
  proscripciones	
  
electorales,	
  asegurar	
  el	
  respeto	
  a	
  las	
  minorías	
  y	
  una	
  política	
  eco.	
  nacionalista	
  y	
  distribucionista.	
  

o 1971:	
  se	
  produce	
  el	
  “vivorazo”	
  (nueva	
  movilización	
  social)	
  
	
  

• Levingston	
  es	
  INCAPAZ	
  de	
  manejar	
  la	
  situación	
  –	
  ES	
  REEMPLAZADO	
  POR	
  LANUSSE	
  
	
  

• 1971:	
  Lanusse	
  anuncia	
  el	
  restablecimiento	
  de	
  la	
  actividad	
  política	
  partidaria	
  +	
  convocó	
  a	
  elecciones	
  
SUBORDINADAS	
  A	
  UN	
  GRAN	
  ACUERDO	
  NACIONAL.	
  

	
  
o GAN:	
  condena	
  de	
  la	
  subversión;	
  garantía	
  sobre	
  la	
  política	
  eco;	
  respeto	
  por	
  las	
  normas	
  

democráticas;	
  FFAA	
  tendrían	
  un	
  lugar	
  institucional	
  en	
  el	
  régimen;	
  acordar	
  una	
  candidatura	
  de	
  
transición	
  (lo	
  principal	
  del	
  acuerdo)	
  	
  

o A	
  todo	
  esto,	
  Perón	
  alentaba	
  a	
  la	
  juventud	
  peronista	
  +	
  alentó	
  a	
  la	
  Hora	
  del	
  Pueblo	
  +	
  creo	
  su	
  
propio	
  GAN	
  con	
  partidos	
  aliados.	
  	
  

o Lanusse	
  intenta	
  fallidamente	
  acordar	
  con	
  Perón	
  (ACUERDO:	
  NO	
  SERÍA	
  CANDIDATO	
  A	
  CAMBIO	
  
DE	
  SU	
  PROPIA	
  AUTOPROSCRIPCIÓN)	
  	
  

o Perón	
  crea	
  su	
  org.	
  electoral	
  CAMPORA-­‐SOLANO	
  LIMA,	
  Frente	
  Justicialista	
  de	
  Liberación.	
  
	
  

• 1973:	
  SE	
  IMPONE	
  EL	
  FRE.JU.LI.	
  con	
  el	
  50%	
  
	
  

o “Las	
  raíces	
  de	
  los	
  conflictos	
  se	
  hallaban	
  en	
  la	
  mala	
  economía”	
  	
  
o El	
  desempeño	
  económico	
  durante	
  este	
  período	
  (´73	
  al	
  ´75)	
  fue	
  satisfactorio.	
  	
  

§ Crece	
  el	
  sector	
  agropecuario,	
  abren	
  mercados	
  de	
  granos	
  y	
  aceite,	
  se	
  fabrican	
  tractores	
  y	
  
cosechadoras	
  gracias	
  a	
  la	
  modernización,	
  se	
  introduce	
  la	
  “semilla	
  híbrida”,	
  las	
  aumenta	
  
las	
  exportaciones	
  de	
  granos/aceites/industriales,	
  se	
  produce	
  un	
  estancamiento	
  de	
  la	
  
export.	
  de	
  carnes,	
  las	
  empresas	
  nacionales	
  (que	
  hacen	
  mas	
  eficiente	
  su	
  organización)	
  
acomodan	
  sus	
  posibilidades	
  para	
  llenar	
  el	
  espacio	
  vacío	
  por	
  las	
  extranjeras.	
  NO	
  HAY	
  MAS	
  
FASE	
  TRAUMÁTICA,	
  AHORA	
  SOLO	
  EXPANSIÓN	
  SOSTENIDA.	
  
	
  

• Cuando	
  asume	
  Cámpora	
  VUELVE	
  PERÓN,	
  y	
  se	
  desata	
  la	
  MAZACRE	
  DE	
  EZEIZA	
  (donde	
  se	
  enfrentan	
  
grupos	
  armados	
  de	
  distintas	
  tendencias	
  peronistas)	
  	
  
	
  

o Por	
  la	
  Masacre,	
  renuncian	
  	
  Cámpora	
  y	
  Solano	
  Lima	
  y	
  asume	
  Lastiri	
  (Julio)	
  
	
  

• Septiembre	
  1973:	
  EN	
  LAS	
  ELECCIONES	
  SE	
  IMPONE	
  LA	
  FÓRMULA	
  PERÓN-­‐PERÓN	
  (62%)	
  	
  
	
  

o 2º	
  PRESIDENCIA:	
  nuevo	
  proyecto	
  peronista	
  (para	
  que	
  funcionara	
  necesitaba	
  de	
  un	
  desempeño	
  
económico	
  satisfactorio	
  y	
  fuerte	
  poder	
  del	
  Estado)	
  
	
  

§ Acuerdo	
  democrático	
  con	
  las	
  fuerzas	
  políticas	
  
§ Pacto	
  social	
  con	
  representantes	
  corporativos	
  
§ Conducción	
  centralizada	
  de	
  su	
  mov.	
  
	
  

o Reforzar	
  el	
  poder	
  del	
  Estado	
  fue	
  un	
  punto	
  débil	
  +	
  el	
  pacto	
  social	
  y	
  el	
  dem.	
  NO	
  FUNCIONARON.	
  
o 1973:	
  PROGRAMA	
  DE	
  RECONSTRUCCIÓN	
  Y	
  LIBERACIÓN	
  NAC.	
  (para	
  superar	
  las	
  limitaciones	
  el	
  

crecimiento	
  eco.)	
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§ La	
  clave	
  de	
  este	
  Programa	
  tmb	
  era	
  el	
  PACTO	
  SOCIAL	
  (con	
  el	
  que	
  se	
  procuraba	
  solucionar	
  
el	
  problema	
  económico:	
  los	
  distintos	
  sectores,	
  empeñados	
  en	
  la	
  puja	
  distributiva,	
  se	
  
frenarían	
  mutuamente)	
  para	
  este	
  Perón	
  recurría	
  a	
  la	
  CONCENTRACIÓN:	
  el	
  Estado	
  debía	
  
disciplinar	
  a	
  los	
  actores	
  combinando	
  persuasión	
  +	
  autoridad.	
  	
  

§ Resultado	
  del	
  Programa:	
  frena	
  la	
  inflación,	
  se	
  acumula	
  un	
  buen	
  superávit	
  y	
  aumenta	
  la	
  
actividad	
  interna.	
  PERO	
  LUEGO,	
  en	
  1973	
  incrementa	
  el	
  consumo	
  (por	
  lo	
  que	
  aumenta	
  la	
  
inflación)	
  encarecen	
  las	
  importaciones	
  y	
  tmb	
  Europa	
  se	
  cierra	
  al	
  mercado	
  de	
  carnes	
  arg.	
  

§ LOS	
  ACTORES	
  DEL	
  PACTO	
  SOC.	
  TENIAN	
  POCA	
  CAPACIDAD	
  PARA	
  CUMPLIRLO.	
  	
  
	
  

• 1974:	
  MUERE	
  PERÓN	
  (Isabel	
  asume	
  la	
  presidencia)	
  	
  
• 1975:	
  GRAVE	
  CRISIS	
  ECONÓMICA:	
  el	
  Mtro.	
  de	
  economía	
  Rodrigo,	
  provoca	
  un	
  “shock	
  económico”	
  	
  
	
  

o =	
  EL	
  RODRIGAZO	
  (devaluación	
  del	
  100%,	
  aumento	
  de	
  las	
  tarifas	
  y	
  combustibles)	
  	
  
o Rto.	
  del	
  Rodrigazo:	
  echó	
  por	
  tierra	
  los	
  aumentos	
  acordados	
  de	
  salario	
  entre	
  los	
  sindicatos	
  y	
  el	
  

sector	
  empresario	
  y	
  la	
  presidenta	
  decidió	
  no	
  aumento	
  los	
  salarios.	
  
o Se	
  desató	
  una	
  huelga	
  general	
  de	
  48hrs	
  y	
  manifestación	
  en	
  Plaza	
  de	
  Mayo.	
  
	
  

• 1976:	
  Isabel	
  es	
  depuesta	
  y	
  arrestada	
  por	
  los	
  militares.	
  	
  La	
  sociedad	
  recibe	
  el	
  golpe	
  con	
  expectativas.	
  	
  
	
  
	
  
	
  
Cap.	
  VII	
  El	
  Proceso	
  
	
  
• La	
  situación	
  posterior	
  al	
  Golpe	
  era	
  tan	
  caótica	
  que	
  generó	
  aceptación	
  de	
  la	
  intervención	
  militar	
  entre	
  la	
  

sociedad,	
  ya	
  que	
  “establecería	
  el	
  orden”.	
  
• 1976:	
  comienza	
  el	
  “PROCESO	
  DE	
  REORGANIZACIÓN	
  NACIONAL”	
  con	
  VIDELA	
  en	
  la	
  presidencia.	
  	
  
• La	
  propuesta	
  de	
  los	
  militares	
  era	
  CORTAR	
  DE	
  RAÍZ	
  EL	
  PROBLEMA	
  
• Los	
  mandos	
  militares	
  concentraron	
  	
  todas	
  las	
  acciones,	
  y	
  los	
  parapoliciales	
  se	
  subordinaron	
  a	
  ellos.	
  	
  
• EL	
  GOB.	
  MILITAR	
  NO	
  TUVO	
  ADHESIONES	
  (AUNQUE	
  LO	
  INTENTO)	
  
• La	
  REPRESIÓN	
  fue	
  una	
  acción	
  sistemática	
  del	
  Estado	
  (la	
  planificación	
  estaba	
  a	
  cargo	
  de	
  los	
  oficiales	
  

superiores,	
  y	
  las	
  ejecuciones	
  en	
  general	
  las	
  llevaban	
  a	
  cabo	
  los	
  oficiales	
  mas	
  jóvenes)	
  	
  
	
  

o “La	
  acción	
  terrorista	
  clandestina”	
  constaba	
  en	
  cuatro	
  momentos:	
  
	
  

§ Secuestro	
  (seguido	
  por	
  el	
  saqueo	
  de	
  la	
  vivienda)	
  	
  
§ Tortura	
  (la	
  picana	
  o	
  el	
  “submarino”	
  eran	
  utilizados,	
  esta	
  fase	
  servía	
  para	
  lograr	
  denuncias	
  

de	
  compañeros,	
  lugares	
  u	
  operaciones)	
  	
  
§ Detención	
  (efectuada	
  en	
  alguno	
  de	
  los	
  340	
  centros	
  clandestinos	
  de	
  detención	
  -­‐los	
  

chupaderos-­‐	
  en	
  los	
  que	
  las	
  víctimas	
  sufrían	
  una	
  degradación	
  de	
  su	
  personalidad	
  e	
  
integridad	
  física.	
  Varias	
  embarazadas	
  dieron	
  a	
  luz	
  en	
  esas	
  condiciones;	
  muchas	
  veces	
  los	
  
mismos	
  secuestradores	
  se	
  apropiaban	
  de	
  los	
  niños)	
  

§ Ejecución	
  (era	
  el	
  último	
  paso,	
  y	
  esta	
  decisión	
  la	
  tomaban	
  los	
  oficiales	
  de	
  mas	
  alto	
  nivel;	
  en	
  
la	
  mayoría	
  de	
  los	
  casos	
  lo	
  cadáveres	
  se	
  ocultaban/enterraban/quemaban/arrojaban	
  al	
  
mar	
  con	
  bloques	
  de	
  cemento.	
  Así,	
  no	
  habían	
  muertos	
  sino	
  “desaparecidos”)	
  
	
  

o Desapariciones	
  masivas	
  entre	
  el	
  ´76	
  y	
  el	
  ´78,	
  y	
  los	
  resultados	
  fueron	
  los	
  buscados.	
  
o Las	
  organizaciones	
  de	
  DDHH	
  reclamaron	
  30.000	
  desaparecidos	
  	
  
o Algunos	
  pertenecían	
  a	
  organizaciones	
  armadas	
  (Montoneros,	
  ERP)	
  organizaciones	
  policiales,	
  

dirigentes	
  gremiales,	
  sacerdotes,	
  abogados,	
  etc.	
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o Algunos	
  tenían	
  una	
  relación	
  INDIRECTA	
  con	
  las	
  organizaciones,	
  y	
  otros	
  “cayeron”	
  por	
  ser	
  
mencionados,	
  o	
  conocidos.	
  

o El	
  Estado	
  se	
  %	
  en	
  2	
  partes:	
  una	
  CLANDESTINA	
  y	
  terrorista;	
  la	
  otra	
  PÚBLICA	
  y	
  “silenciadora”.	
  	
  
	
  

• “EL	
  ADVERSARIO”:	
  Los	
  límites	
  eran	
  borrosos	
  ya	
  que	
  podía	
  ser	
  cualquiera.	
  
• Ante	
  esta	
  “cultura	
  del	
  miedo”	
  muchos	
  emigraron	
  al	
  exterior,	
  y	
  otros	
  se	
  refugiaron	
  (exilio	
  interno)	
  
• La	
  “internalización	
  de	
  la	
  acción	
  estatal”	
  se	
  llevo	
  a	
  cabo	
  –	
  el	
  propio	
  control,	
  la	
  autocensura,	
  la	
  vigilancia	
  

del	
  vecino.	
  
• El	
  PRN	
  se	
  trató	
  de	
  la	
  coexistencia	
  entre	
  un	
  Estado	
  terrorista	
  clandestino	
  y	
  otro	
  Estado	
  visible	
  sujeto	
  a	
  

normas.	
  Creó	
  una	
  revolución	
  contra	
  el	
  Estado,	
  y	
  el	
  Estado	
  ilegal	
  fue	
  corrompiendo	
  las	
  instituciones	
  del	
  
Estado	
  legal.	
  El	
  poder	
  se	
  divide	
  entre	
  las	
  3	
  fuerzas,	
  a	
  lo	
  que	
  no	
  hay	
  instancia	
  de	
  poder	
  superior.	
  	
  
	
  

• ECONÓMICAMENTE:	
  MARTINEZ	
  DE	
  HOZ	
  –	
  Mtro.	
  de	
  Economía	
  durante	
  Videla	
  
	
  

o El	
  Estado	
  Benefactor	
  era	
  el	
  causante	
  del	
  desorden	
  (soc.	
  y	
  eco.)	
  	
  
o Se	
  requería	
  una	
  gran	
  transformación,	
  que	
  necesitó	
  de	
  una	
  fuerte	
  intervención	
  del	
  Estado	
  para	
  

REPRIMIR	
  Y	
  DESARMAR	
  a	
  los	
  actores	
  corporativos.	
  
o La	
  conducción	
  económica	
  debía	
  durar	
  un	
  tiempo	
  determinado	
  en	
  el	
  poder	
  para	
  que	
  sus	
  cambios	
  

fueran	
  irreversibles.	
  	
  
o MEDIDAS:	
  

	
  
§ Intervención	
  de	
  la	
  CGT	
  y	
  sindicatos.	
  
§ Supresión	
  de	
  negociaciones	
  colectivas.	
  
§ Supresión	
  de	
  huelgas.	
  
§ Congelamiento	
  de	
  $.	
  
§ RESULTADO:	
  SE	
  SUPERA	
  LA	
  CRISIS	
  CÍCLICA	
  SIN	
  DESOCUPACIÓN.	
  
§ Achicamiento	
  y	
  reducción	
  del	
  Estado.	
  	
  
§ Desde	
  1977	
  comienzan	
  las	
  grandes	
  reformas:	
  

o La	
  Reforma	
  Financiera	
  elimina	
  el	
  poder	
  del	
  Estado	
  para	
  regular	
  la	
  tasa	
  de	
  
interés	
  y	
  se	
  permite	
  la	
  proliferación	
  de	
  bancos	
  

o El	
  Estado	
  ya	
  no	
  dispone	
  de	
  créditos	
  subsidiados	
  (gas,	
  agua,	
  etc.)	
  
o El	
  Estado	
  garantiza	
  los	
  depósitos	
  a	
  plazo	
  fijo	
  
o Se	
  produce	
  una	
  apertura	
  económica	
  (no	
  mas	
  proteccionismo)	
  	
  
o Devaluación	
  del	
  peso	
  –	
  se	
  fija	
  la	
  “TABLA	
  DE	
  DEVALUACIÓN	
  MENSUAL”	
  del	
  

peso	
  para	
  bajar	
  la	
  inflación	
  (No	
  funciona)	
  	
  
	
  

§ La	
  industria	
  sufre	
  la	
  competencia	
  con	
  artículos	
  importados.	
  
§ Cae	
  el	
  producto	
  industrial	
  y	
  la	
  mano	
  de	
  obra.	
  
§ Se	
  ensancha	
  la	
  brecha	
  del	
  avance	
  tecnológico	
  entre	
  el	
  exterior	
  y	
  Argentina.	
  	
  

	
  
o La	
  economía	
  se	
  divide	
  entre	
  la	
  ECONOMÍA	
  IMAGINARIA	
  (El	
  programa	
  de	
  M.	
  De	
  Hoz)	
  y	
  la	
  

ECONOMÍA	
  REAL	
  (Las	
  consecuencias	
  de	
  la	
  imaginaria)	
  
o El	
  Estado	
  comienza	
  absorber	
  empresas	
  y	
  bancos	
  en	
  quiebra.	
  

	
  
o La	
  relación	
  de	
  M.	
  De	
  Hoz	
  con	
  	
  

	
  
§ MILITARES:	
  CONFLICTIVA	
  de	
  potencia	
  a	
  potencia,	
  porque	
  ellos	
  tenían	
  ideas	
  mas	
  

tradicionales,	
  con	
  las	
  que	
  hubo	
  que	
  encontrar	
  un	
  punto	
  de	
  acuerdo.	
  
§ EMPRESARIOS:	
  CONFLICTIVA,	
  porque	
  el	
  Mtro.	
  fue	
  inflexible	
  y	
  sus	
  políticas	
  solo	
  

beneficiaban	
  a	
  algunos	
  de	
  ellos.	
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• Luego	
  la	
  “POLÍTICA	
  DE	
  ORDEN”	
  empieza	
  a	
  fracasar	
  desde	
  las	
  FFAA	
  (por	
  su	
  comportamiento	
  sin	
  
disciplina)	
  pero	
  igual	
  mantuvo	
  la	
  “paz”	
  por	
  la	
  nula	
  capacidad	
  de	
  respuesta	
  de	
  la	
  sociedad.	
  Recién	
  en	
  la	
  
retirada	
  de	
  Videla	
  (transfiere	
  el	
  mando	
  a	
  Viola)	
  se	
  comienzan	
  a	
  escuchar	
  quejas.	
  
	
  

o EMPRESARIOS:	
  apoyaban	
  distantes	
  el	
  Proceso	
  en	
  sus	
  inicios	
  PERO	
  luego,	
  movilizados	
  por	
  la	
  
crisis,	
  comienzan	
  a	
  formar	
  una	
  fuerte	
  contra.	
  

o SINDICALISTAS:	
  recibió	
  duros	
  golpes	
  (dirigentes	
  encarcelados,	
  “listas	
  negras”,	
  derecho	
  a	
  la	
  
huelga	
  suprimido,	
  CGT	
  intervenida)	
  	
  no	
  hizo	
  oír	
  mucho	
  su	
  voz.	
  Este	
  sector	
  se	
  %	
  entre	
  los	
  
DIALOGUISTAS	
  Y	
  LOS	
  COMBATIVOS.	
  

o IGLESIA:	
  inicialmente	
  tuvo	
  una	
  relación	
  muy	
  estrecha	
  con	
  el	
  gobierno	
  PERO	
  con	
  la	
  asunción	
  de	
  
Juan	
  Pablo	
  II	
  la	
  Iglesia	
  se	
  propone	
  apartarse	
  de	
  la	
  injerencia	
  en	
  cuestiones	
  políticas	
  y	
  sociales.	
  
También,	
  reafirma	
  sus	
  principios	
  republicanos	
  y	
  su	
  contrariedad	
  por	
  la	
  democracia	
  y	
  regímenes	
  
militares.	
  
	
  

• DDHH:	
  Las	
  MADRES	
  DE	
  PLAZA	
  DE	
  MAYO	
  comienzan	
  a	
  conmover	
  la	
  indiferencia	
  social,	
  y	
  reaparece	
  la	
  
opinión	
  pública	
  (referencia	
  de	
  un	
  movimiento	
  amplio)	
  

• 1980:	
  Los	
  dirigentes	
  del	
  Proceso	
  comienzan	
  a	
  discutir	
  la	
  salida	
  política,	
  pero	
  temían	
  resultados	
  tales	
  
como:	
  
	
  

o AISLAMIENTO	
  
o CRISIS	
  ECONOMICA	
  
o DISCREPANCIA	
  EN	
  LAS	
  OPINIONES	
  INTERNAC.	
  

	
  
• 1981:	
  SE	
  CONCLUYE	
  LA	
  VEDA	
  POLÍTICA	
  (los	
  partidos	
  se	
  comprometen	
  a	
  no	
  colaborar	
  ni	
  aceptar	
  una	
  

democracia	
  sometida	
  a	
  la	
  tutela	
  militar;	
  la	
  afiliación	
  de	
  los	
  partidos	
  luego	
  del	
  levantamiento	
  de	
  la	
  veda	
  
es	
  masiva,	
  todos	
  luchaban	
  por	
  recuperar	
  la	
  democracia)	
  y	
  cae	
  Viola	
  enfermo,	
  es	
  reemplazado	
  por	
  
GALITERI:	
  
	
  

o Dirigente	
  vigoroso,	
  “salvador	
  del	
  Proceso”	
  
o Alineó	
  al	
  país	
  con	
  EEUU,	
  y	
  lo	
  apoyó	
  en	
  la	
  guerra	
  contra	
  América	
  Central.	
  	
  
o Lleva	
  a	
  cabo	
  un	
  LEVANTAMIENTO	
  DE	
  LAS	
  SANCIONES	
  POR	
  VIOLACION	
  A	
  DDHH.	
  

	
  
o ALEMANN	
  Mtro.	
  de	
  Economía:	
  lanza	
  un	
  plan	
  para	
  recuperar	
  las	
  Islas	
  Malvinas	
  +	
  solucionar	
  el	
  

problema	
  del	
  Canal	
  de	
  Beagle	
  con	
  Chile.	
  	
  
	
  

• 1982:	
  Las	
  FFAA	
  desembarcan	
  en	
  las	
  Islas	
  Malvinas	
  (gran	
  apoyo	
  social)	
  GB	
  tenía	
  el	
  apoyo	
  de	
  Europa	
  y	
  
EEUU;	
  Arg.	
  tenía	
  el	
  apoyo	
  de	
  América	
  Latina	
  (cada	
  vez	
  mas	
  solo,	
  Arg.	
  buscaba	
  aliados	
  imposibles	
  como	
  
Cuba)	
  Estaba	
  escaso	
  en	
  abastecimientos,	
  quipos	
  y	
  planes.	
  Solo	
  podía	
  RESISTIR.	
  
	
  

o El	
  gobierno	
  militar	
  pensó	
  que	
  el	
  asunto	
  se	
  resolvería	
  mediante	
  una	
  negociación	
  (EL	
  GOBIERNO	
  
ESTABA	
  DISPUESTO	
  A	
  ACEPTAR	
  LAS	
  CONDICIONES	
  INGLESAS	
  SIEMPRE	
  QUE	
  GB	
  ACEPTARA	
  LA	
  
SOBERANIA	
  ARG.	
  SOBRE	
  LAS	
  TIERRAS)	
  por	
  eso,	
  la	
  respuesta	
  inglesa	
  fue	
  una	
  sorpresa.	
  “No	
  había	
  
otra	
  salida	
  que	
  la	
  victoria”.	
  

o Se	
  generó	
  una	
  MANIPULACIÓN	
  TOTAL	
  DE	
  LA	
  INFORMACIÓN,	
  en	
  la	
  que	
  se	
  hacia	
  creer	
  que	
  Arg.	
  
iba	
  ganando.	
  Mientras	
  tanto,	
  JP	
  II	
  prepara	
  al	
  país	
  para	
  la	
  derrota.	
  	
  

o Los	
  gobernantes	
  convocan	
  al	
  pueblo	
  a	
  Playa	
  de	
  Mayo	
  para	
  anunciar	
  la	
  rendición,	
  y	
  reprimen	
  
violentamente	
  a	
  la	
  sociedad	
  confusa	
  por	
  las	
  declaraciones	
  de	
  “victoria”.	
  

o La	
  derrota	
  de	
  la	
  guerra	
  de	
  las	
  Malvinas	
  significa	
  la	
  CRISIS	
  DEL	
  REGIMEN	
  MILITAR.	
  	
  
o Galitieri	
  es	
  reemplazado	
  por	
  Bignone.	
  	
  
o EL	
  GOBIERNO	
  MILITAR	
  PROPONIA	
  UNA	
  SALIDA	
  TRANQUILA,	
  POR	
  ESO	
  NO	
  SE	
  INVESTIGARÍA:	
  

	
  
§ Represión	
  



9	
  

§ Torturas/muertes	
  	
  
§ Corrupción	
  	
  
§ TODO	
  ESTO	
  ES	
  RECHAZADO	
  POR	
  LA	
  OPINIÓN	
  PÚBLICA	
  (marchan	
  por	
  la	
  democracia)	
  	
  
§ Democracia:	
  ilusión,	
  llave	
  para	
  superar	
  desencuentros	
  y	
  frustraciones.	
  	
  

	
  
o 1983:	
  elecciones	
  para	
  la	
  retirada	
  del	
  gobierno	
  militar	
  (la	
  sociedad	
  estaba	
  despertando,	
  todos	
  

juntos	
  ante	
  una	
  contra	
  en	
  común,	
  una	
  sociedad	
  que	
  repudia	
  la	
  violencia/guerra)	
  	
  
	
  

§ PERONISMO:	
  se	
  convierte	
  en	
  un	
  partido	
  aceptable.	
  LUDER	
  candidato	
  a	
  presidente.	
  
§ RADICALISMO:	
  impulsado	
  por	
  ALFONSIN	
  (luego	
  del	
  Peronismo,	
  tuvo	
  gran	
  ascenso	
  y	
  

afiliados)	
  
	
  

o GANA	
  EL	
  RADICALISMO	
  HOLGADAMENTE	
  ANTE	
  EL	
  PERONISMO,	
  PRIMERA	
  VEZ	
  QUE	
  EL	
  
PARTIDO	
  PIERDE	
  ELECCIONES	
  NACIONALES.	
  

	
  
	
  
	
  
Cap.	
  VIII	
  El	
  impulso	
  y	
  su	
  freno	
  
	
  

• 1983:	
  ALFONSIN	
  –	
  VUELVE	
  LA	
  DEMOCRACIA,	
  suponía	
  la	
  solución	
  de	
  todos	
  los	
  problemas	
  (seguían	
  
habiendo,	
  mas	
  que	
  nada	
  económicos)	
  	
  
	
  

o Gran	
  proporción	
  de	
  votos.	
  
o >	
  en	
  Cámara	
  de	
  Dip.	
  
o <	
  en	
  el	
  Senado.	
  
o UCR:	
  fuerza	
  no	
  muy	
  homogénea,	
  no	
  tenia	
  mucho	
  apoyo	
  entre	
  las	
  fuerzas	
  corporativas.	
  
o El	
  Estado	
  NO	
  tenía	
  la	
  CREDIBILIDAD	
  DE	
  LA	
  SOCIEDAD.	
  	
  
o CIVILIDAD	
  =	
  ENORME	
  FUERZA	
  	
  DE	
  ALFONSÍN.	
  
o Identidad	
  política	
  fundada	
  en	
  valores	
  éticos.	
  
	
  

• Inicialmente	
  el	
  gobierno	
  tuvo	
  poco	
  apoyo	
  porque,	
  sin	
  que	
  hubieran	
  acuerdos	
  sobre	
  como	
  se	
  
desarrollaría	
  el	
  proceso	
  político,	
  CADA	
  PARTIDO	
  DESEMPEÑO	
  SU	
  OFICIALISMO	
  (+	
  oposición	
  entre	
  
ellos)	
  

• Si	
  tuvo	
  gran	
  apoyo	
  del	
  Radicalismo	
  y	
  el	
  conjunto	
  civil	
  que	
  lo	
  respaldó.	
  
• Los	
  poderes	
  corporativos	
  –	
  militares,	
  la	
  Iglesia,	
  empresarios,	
  sindicatos	
  –	
  sin	
  centro	
  políticos	
  que	
  

articulara	
  sus	
  voces	
  después	
  de	
  la	
  caída	
  del	
  antiguo	
  régimen.	
  Terminan	
  rindiendo	
  homenaje	
  a	
  la	
  dem.	
  
• Los	
  problemas	
  económicos	
  parecían	
  <	
  al	
  lado	
  de	
  los	
  sociales:	
  ERA	
  NECESARIO	
  ELIMINAR	
  EL	
  

AUTORITARISMO.	
  	
  
• Dio	
  gran	
  importancia	
  a	
  la	
  EDUCACION	
  POLITICA,	
  para	
  eso:	
  
	
  

o Alfabetización	
  masiva	
  
o No	
  +	
  mecanismos	
  represivos	
  en	
  el	
  sistema	
  escolar.	
  
o Libertad	
  de	
  expresión,	
  destape	
  y	
  desarrollo	
  de	
  opinión.	
  
o Univ.	
  y	
  sistema	
  científico:	
  vuelven	
  los	
  investigadores	
  e	
  intelectuales	
  (que	
  se	
  incorporan	
  a	
  la	
  

política,	
  que	
  se	
  intelectualizó.	
  A.	
  recurre	
  a	
  ellos	
  como	
  asesores	
  políticos)	
  
o UBA:	
  transformación	
  profunda.	
  	
  
	
  

• IGLESIA:	
  hostilidad	
  al	
  gobierno	
  radical	
  por	
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o Escasa	
  injerencia	
  en	
  la	
  enseñanza	
  privada	
  
o Ley	
  de	
  divorcio	
  vincular	
  (1987)	
  
o Tono	
  laico	
  
	
  

• Nuevo	
  perfil	
  del	
  país:	
  REINSERCIÓN	
  EN	
  LA	
  COMUNIDAD	
  INTERNAC.	
  
	
  

o Se	
  encara	
  la	
  cuestión	
  del	
  Canal	
  de	
  Beagle	
  (la	
  solución	
  pacifica	
  del	
  Papa	
  como	
  única	
  salida,	
  para	
  
evitar	
  el	
  militarismo)	
  

o Sobre	
  las	
  Malvinas	
  se	
  decide,	
  a	
  través	
  de	
  la	
  votación	
  de	
  las	
  Naciones	
  Unidas,	
  llevar	
  a	
  las	
  partes	
  a	
  
negociar	
  (que	
  incluyera	
  la	
  soberanía	
  =	
  defraudado)	
  

o Arg.	
  se	
  propone	
  mediar	
  en	
  el	
  conflicto	
  que	
  había	
  en	
  Centro	
  América	
  (trata	
  de	
  aplicar	
  términos	
  
éticos	
  y	
  políticos	
  para	
  evitar	
  riesgos	
  que	
  llevarían	
  a	
  una	
  G.	
  Fría)	
  
	
  

• La	
  sociedad	
  se	
  ENTERA	
  DE	
  LOS	
  HECHOS	
  OCURRIDOS	
  DURANTE	
  EL	
  PROCESO	
  a	
  través	
  de	
  denuncias,	
  
medios,	
  informes	
  realizados	
  por	
  la	
  CONADEP	
  (presidida	
  por	
  Sábato)	
  como	
  por	
  ej.	
  el	
  texto	
  “Nunca	
  más”	
  

• Los	
  militares	
  se	
  encontraban	
  en	
  una	
  situación	
  de	
  debilidad	
  pero	
  todavía	
  no	
  eran	
  expulsados	
  del	
  poder.	
  
• A,	
  que	
  fue	
  un	
  enérgico	
  defensor	
  de	
  los	
  DDHH,	
  buscó	
  subordinar	
  a	
  las	
  FFAA	
  al	
  poder	
  civil.	
  
• DISTINCIONES	
  ENTRE	
  LOS	
  MILITARES	
  QUE	
  DIERON	
  ORDENES,	
  LOS	
  QUE	
  LAS	
  EXCEDIERON	
  Y	
  LOS	
  QUE	
  

LAS	
  ACATARON.	
  
• 1985:	
  COMIENZAN	
  LOS	
  JUICIOS	
  A	
  EXCOMBATIENTES	
  (reveló	
  las	
  atrocidades)	
  alegando	
  que	
  NO	
  habían	
  

justificaciones	
  para	
  sus	
  hechos.	
  
	
  

§ 	
  LEY	
  DE	
  PUNTO	
  FINAL:	
  Ponía	
  un	
  límite	
  de	
  2	
  meses	
  a	
  las	
  citaciones	
  
judiciales.	
  

§ LEY	
  DE	
  OBEDIENCIA	
  DEBIDA:	
  Ley	
  que	
  protege	
  militares	
  de	
  menor	
  
mando	
  por	
  cumplir	
  con	
  lo	
  asignado.	
  
	
  

• “SEMANA	
  SANTA”:	
  Los	
  oficiales	
  exigen	
  solución	
  política	
  por	
  la	
  cuestión	
  de	
  las	
  citaciones	
  porque	
  “era	
  
injusto”	
  PERO	
  la	
  sociedad	
  civil	
  apoya	
  masivamente	
  al	
  orden	
  institucional,	
  y	
  se	
  firma	
  el	
  Acta	
  de	
  
Compromiso	
  Democrático	
  (por	
  lo	
  que	
  se	
  llevan	
  a	
  cabo	
  las	
  leyes	
  anteriormente	
  mencionadas)	
  LA	
  
SOCIEDAD	
  VIO	
  ESTO	
  COMO	
  UNA	
  RESIGNACION	
  DE	
  A.	
  YA	
  QUE	
  NEGOCIÓ	
  PACIFICAMENTE	
  EN	
  VEZ	
  DE	
  
ENFRENTARLO.	
  	
  

• Sindicatos:	
  debilitados	
  por	
  la	
  caída	
  del	
  peronismo;	
  el	
  gobierno	
  aprovecha	
  para	
  democratizarlos,	
  Mucci	
  
(Mtro.	
  de	
  Trabajo)	
  PROYECTA	
  LA	
  LEY	
  DE	
  NORMALIZACION	
  INSTIT.	
  DE	
  LOS	
  SINDICATOS	
  (voto	
  secreto,	
  
directo	
  y	
  obligatorio,	
  representación	
  de	
  las	
  minorías,	
  la	
  limitación	
  de	
  la	
  reelección)	
  PERO	
  ESTA	
  LEY	
  ES	
  
RECHAZADA	
  SOLO	
  POR	
  UN	
  VOTO	
  EN	
  EL	
  SENADO.	
  

• ECONÓMICAMENTE:	
  
	
  

§ Inflación	
  acelerada	
  	
  
§ Deuda	
  externa	
  en	
  aumento	
  
§ Cerrada	
  
§ Ineficiente	
  	
  
§ Solo	
  se	
  podía	
  salir	
  de	
  eso	
  emitiendo	
  mas	
  dinero	
  (=	
  mas	
  inflación)	
  	
  
§ LAS	
  SOLUCIONES	
  FUERON	
  POSTERGADAS	
  POR	
  A.	
  (evito	
  tomar	
  

decisiones	
  que	
  dividieran	
  al	
  campo	
  de	
  la	
  civilidad,	
  apoyo	
  clave)	
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o Mtro.	
  de	
  Economía	
  GRINSPUN:	
  fórmula	
  redistributiva	
  clásica	
  +	
  acción	
  social	
  (ej.	
  PAN,	
  Programa	
  
Alimentario	
  Nacional,	
  que	
  proveyó	
  las	
  necesidades	
  mínimas	
  a	
  los	
  sectores	
  mas	
  pobres)	
  
POLITICA	
  FUERTEMENTE	
  RECHAZADA.	
  

o 1985:	
  amenaza	
  la	
  hiperinflación	
  –	
  Grinspun	
  es	
  reemplazado	
  por	
  SOURROUILLE	
  	
  
o Sourr:	
  PLAN	
  AUSTRAL,	
  plan	
  de	
  shock	
  para	
  disminuir	
  la	
  inflación	
  en	
  el	
  que	
  se	
  congelan	
  los	
  $	
  

precios	
  y	
  tarifas,	
  se	
  regula	
  la	
  tasa	
  de	
  interés,	
  se	
  suprime	
  la	
  emisión	
  monetaria	
  y	
  se	
  cambia	
  el	
  
austral=peso.	
  BUENOS	
  RESULTADOS	
  =	
  GRAN	
  APOYO	
  SOCIAL	
  

o Fin	
  1985:	
  vuelve	
  la	
  inflación.	
  
	
  

• 	
  1987:	
  AÑO	
  DECISIVO	
  PARA	
  A.	
  
	
  

o Semana	
  Santa:	
  culmina	
  la	
  civilidad	
  y	
  pierde	
  su	
  liderazgo	
  
o Cuestión	
  militar:	
  no	
  cerrada,	
  militares	
  aprovechan	
  la	
  debilidad	
  (Aldo	
  Rico	
  jefe	
  de	
  un	
  

levantamiento,	
  pero	
  poca	
  preocupación)	
  
o Menem	
  a	
  todo	
  esto,	
  presenta	
  gran	
  capacidad	
  para	
  reunir	
  a	
  su	
  alrededor	
  distintos	
  segmentos	
  del	
  

peronismo,	
  y	
  reúne	
  una	
  sólida	
  base	
  electoral.	
  
	
  

• PLAN	
  PRIMAVERA:	
  para	
  llegar	
  a	
  las	
  elecciones	
  con	
  la	
  inflación	
  controlada	
  	
  
	
  

o Congelan	
  los	
  precios	
  $	
  y	
  tarifas	
  
o PLAN	
  CON	
  DIFICULTADES	
  DESDE	
  EL	
  COMIENZO	
  
o 1988:	
  el	
  Bco.	
  Mundial	
  y	
  el	
  FMI	
  limitan	
  los	
  créditos	
  a	
  la	
  Arg.	
  	
  
o 1989:	
  devaluación	
  del	
  austral	
  y	
  precios	
  en	
  ascenso	
  	
  
o INFLACIÓN	
  Y	
  LUEGO	
  HIPERINFLACIÓN.	
  
	
  

• 1989:	
  ELECCIONES,	
  EL	
  PJ	
  TRIUNFA	
  CON	
  MENEM,	
  el	
  traspaso	
  del	
  gobierno	
  estaba	
  previsto	
  para	
  
Diciembre,	
  pero	
  la	
  situación	
  amerita	
  para	
  que	
  se	
  corra	
  la	
  fecha	
  al	
  9	
  de	
  Julio.	
  	
  

	
  
	
  


